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Building Standards in Educational and Professional Testing

SAMPLE PAPER 

Jr. COMPUTER PROGRAMMER

ENGLISH
Complete the sentences by choosing the most appropriate option, from the given lettered choices (A to D) below each.

1. Ahmad always seeks _____ wealth.

A. from

B. with

C. to

D. for

Each question below consists of a related pair of words, followed by four lettered pairs of words. Select the lettered pair that best expresses a relationship similar to that expressed in the original pair. 

2. PAGE: BOOK::

A. sailors: crew

B. petal: flower

C. leaf: stalk

D. singers: chorus

Choose the lettered word or phrase that is most nearly opposite in meaning to the word in capital letters.

3. PARTICULAR:

A. general

B. widespread

C. diffused

D. common

Choose the word most similar in meaning to the capitalized ones.

4. CHANGE:
A. alter

B. church

C. complete

D. decide

E. agree

Read the passage to answer questions 5-6

The vast multitude of stars are wandering about in space. A few form groups which journey in company, but the majority are solitary travelers. And they travel through a universe so spacious that it is an event of almost unimaginable rarity for a star to come anywhere near to another star. For the most part each voyages in splendid isolation, like a ship on an empty ocean. In a scale model in which the stars are ships, the average ship will be well over a million miles from its nearest neighbor, whence it is easy to understand why a ship seldom finds another within hailing distance.

5. Which of the following is incorrect according to the passage?

A. Most of the stars travel in isolation

B. The universe is very large

C. A star very frequently comes near to another one 

D. A star very rarely comes near to another one

E. Some stars travel in groups

6. In the passage the “ship” symbolizes:

A. space

B. traveler

C. universe

D. ocean

E. star

QUANTITATIVE

7. 18 ÷ 0.04 =?

A. 4.5 

B. 45 

C. 450 

D. 4,500 

E. 45,000

8. What is 0.1 percent expressed as a decimal? 

A. 0.001 

B. 0.01 

C. 0.1 

D. 1 

E. 10.0

9. 
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 is closest to:

A. 5

B. 5.4 

C. 5.5 

D. 5.6

E. 5.7

10. 
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A. -4

B. 52

C. -52

D. 28

11. A boy takes 3 minutes to read a story of 315 words. How many minutes will it take him to read a story of 945 words at the same rate?

A. 2

B. 8

C. 3

D. 9

12. A rectangle is 14 cm long and 10 cm wide. If the length is reduced by x cms and its width is increased also by x cms so as to make it a square then its area changes by: 

A. 4

B. 144

C. 12

D. 2

GENERAL KNOWLEDGE

13. Usama bin Ladin was a citizen of:

A. Afghanistan

B. Libya

C. Iraq

D. Saudi Arabia

14. Radar cannot determine:

A. Size of object

B. Speed of object

C. Distance of object

D. Direction of motion of object

15. War of Independence was fought in the year _____.

A. 1856

B. 1857

C. 1858

D. 1867

SUBJECT

16. What is POTS?

A. Plain Ordinary Telephonic service

B. Plain Old Telecommunication Stop

C. Plain Old Telephone Service

D. Primary Old Transport Service

17. Fiber optics cable is made up of:

A. glass/plastic

B. copper

C. iron

D. fine platinum

18. Database modeling:
A. is achieved using an information flow diagram

B. is necessary to remove database anomalies through normalization

C. uses a dataflow diagram

D. is same as process modeling

19. What is a File?

A. A file is the collection of records.

B. A file is collection of database

C. A file is collection of columns

D. All of the above

ANSWER KEYS
	Q #.
	Right Choice

	1
	D

	2
	B

	3
	C

	4
	A

	5
	C

	6
	E

	7
	C

	8
	A

	9
	C

	10
	E

	11
	E

	12
	A

	13
	D

	14
	A

	15
	B

	16
	C

	17
	A

	18
	B

	19 
	A
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